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Subject Topic
APTITUDE & MENTAL ABILI SIMPLIFICATION - 2




CLASS NO

14 -11-2023

15-11-2023

~—

20-11-2023
21-11-2023

27-11-2023
28-11-2023
04-12-2023
05-12-2023

11-12-2023
12 -12-2023
18 -12-2023
19-12-2023

25-12-2023

26-12-2023

CLASS SCHEDULE

DATE TOPICS & SUB TOPICS

Simplification Part 1 — VBODMAS, SQUARE & CUBE ROOT, POWER &

INDICES

Simplification Part 2 — FRACTION, ALGEBRA, WORD PROBLEM

Percentage Part 1
Percentage Part 2 - Profit & Loss, Discount, GST

Least Common Multiple (LCM)

Highest Common Factor (HCF)

Ratio & Proportion Part 1

Ratio & Proportion Part 2 — Ages, Mixture & Allegation

Simple Interest

Compound Interest Part 1

Compound Interest Part 2

Area Part 1 — Square, Rectangle, Circle

Area Part 2 — Triangle, Quadrilateral, Trapezium, rhombus

Volume Part 1 — Cube, Cuboid, Cylinder




CLASS NO

B (R (=
N (o |\

[y

CLASS SCHEDULE

01-01-2024
02 -01-2024
08 -01-2024
09 -01-2024
15-01-2024
16 - 01 -2024
22-01-2024
23-01-2024
29-01-2024
30-01-2024
31-01-2024
17-02 -2024
18 -02 -2024

DATE TOPICS & SUB TOPICS

Volume Part 2 — Cone, Sphere, Hemisphere
Time & Work

Time & Distance

Number system (A.P)
Number system (G.P)
Logical Reasoning
Puzzles & Dice
Alphanumeric Series
Visual Reasoning
Probability
Miscellaneous — Statistics
Maths Revision 1

Maths Revision 2




SIMPLIFICATION (&(h&&5)

TYPE 3: POWER & INDICES (31(h & (5 (Lp 60> M)

27. Simplify/&'r(l]j&":@&';

COMMENT BELOW

(|




HOMEWORK SUM DOUBTS-TYPE 1

(19)+(s3) (3= (D) (D (2D -

3)7% b)7% C)63_85 d)7% 74 1 1
a)E b)1 C)6E d)6g
Solution: 7 Solution
3 4 Q39
(1) +(55) =5+
556+19g 5 7 <4+3)+( 5 12)+< 12 —27)
—_1 — —— X — —— X/
_ 3 2 3 30 9 16
35
:2_1 _8+9 2+9_17+9 2
356 T 6 3 4 6 4

35

3
B/ _122 2 _106_53_ 5

24 3 24 12 12



SIMPLIFICATION (&(h&&&)

TYPE 4.1: FRACTION (Lil6tT60TLD)

1. The value of ‘ Qﬁ

a) 999993

ﬂﬁ*
Vx=x99
b) 998993.. 4|
= Q98 A=
) 998999 (ﬁ%ﬂi} K;””,”__l_
d) 1000991 @qo\ X 299) P




SIMPLIFICATION (&(h&&&)

TYPE 4.1: FRACTION (Lil6tT60TLD)

2. The value 0f\9999=

a) 99080092 0\ 0\ G\ % 0 9043 )

b) 99989969

—— 3

Y 99980993...

d) 99989930




SIMPLIFICATION (&(h&&&)

TYPE 4.1: FRACTION (Lil6tT60TLD)

3. The value of 99 —

95
)9/ 98993... q X C%
b) 98996 @ﬂﬂ O_\‘ i Cl X

c) 100991 ﬂjgbb @@ o\ﬂ QQOD _h
d) 99826 -
1} , RIC




SIMPLIFICATION (&(h&&&)

TYPE 4.1: FRACTION (LfléT6uLD) WA Ry

. 4%
4. The value of@ ))(Lf;

= M@ 2%
a) 195993 N
= \ AL 003 +
b) 998993 @ .
R ORNe
196007...
/O)/\ @ A AR QS *mﬁ@)y / @ =

d) 999982 \) .




SIMPLIFICATION (&(h&&5)

TYPE 4.2: FRACTION (Lil6tT60TLD)

5. Express 0. 3 into fraction

0.3 6T6OTM 6T6v0T6M6v0T LIGITGULOMS LOMHM) &

3
a) E
1
b ;.
3
C) —0
3

4 Tooo

p—

i 02 — O
L= -
0> = a

- 0LS — O
Q% -




SIMPLIFICATION (&(h&&5)

TYPE 4.2: FRACTION (Lil6tT60TLD)

6. Express 0.45 into fraction

0.45 eT60TM 6T6voT6M6vTT LG GTLOMS LOMDHW)IS

a) i
7 s
bj% Q%’%:o-%a%s..
—g_g )3
Q) 3 OS> — Ol




SIMPLIFICATION (&(h&&5)

TYPE 4.2: FRACTION (Lil6tT60TLD)

7. Express 2. 124 into fraction

—

2.124 eT6OTD 6TEUOT6M6vOT LI6OTGUILONS LOMMHMI&

2124

) .
b o 0 Qan = - \2MVZL k- -
2122 o2l — Q
999 '’ N _
AR
_ 2\

999




SIMPLIFICATION (&(h&&&)

TYPE 4.2: FRACTION (Lil6tT60TLD)

8. _0.23+0.22 @i L] ereirenr?

(21) 0.43 (25) 0.45 (@) 0.45

The value of 0.23 + 0.22 is

(a) 0.43 (b) 0.45 (c) 0.45
Q. %2322 .

+ 02222722 -
O 4% 4555 _




SIMPLIFICATION (&(h&&&)

TYPE 4.3: FRACTION (Lil6tT60TLD)

9.1+ —
1+—1
1+§

'\
a) 10/7
_by 11/7...
c) 10/9
d) 29/9

| +
\ ¥
\ — —
m\« o =2\
< &
¥




SIMPLIFICATION (&(h&&&)

TYPE 4.3: FRACTION (Lil6tT60TLD)

10.1+% =
2 - 2=
~N @ Y
—\

a) 5/8 N\ 3>
—b)- 8/5... %xk 2. 2.

) 10/9 ‘

d) 28/9




HOMEWORK-TYPE 4

1. Express 0.568 into fraction
0.568 6T6OTD 6T6VOTEMIGUOT LIGITGUILONS LOMMDHMIS

a) 563/999 b)568/999 c)563/990 d) 568/990
2. Express 0.9 into fraction

0.9 6T60TM 6T6vOT6M6UON LIl6OT6UILOMS LOMDMIS
a)1/9 b)1 c¢)5/90 d)5/9

.
3.0.34 + 0.3 =

a)0.687 b)0.68 ¢)0.68 d)0.687




SIMPLIFICATION (&(h&&&)

TYPE 4.4: FRACTION (Lil6d160TLD)

®¥,’; N ' %560
11. Simplify/&'r@&"»@&i (1-3)(1-7)--(1- =)

99
2) Too

moll.




SIMPLIFICATION (&(h&&&)

TYPE 4.4: FRACTION (Lil6d160TLD)




SIMPLIFICATION (&(h&&&)

TYPE 4.4: FRACTION (Lil6d160TLD)

. )
13.Simplify/ 5B 5. %/W )+ ( @ > ¥ Ok
0 \

A .

b)E

C)?

d)E




SIMPLIFICATION (&(h&&5)

TYPE 4.4: FRACTION (Lil6tT60TLD)

14. Simplify/ 8 (1 & (5 & 7@)@ (3;4) - (4i5) T (

L >
, %S
=




SIMPLIFICATION (&(55@& %)

\ )
TYPE 4.4: FRACTlON(Lﬂmmm) L}é /L ;{ Z*L ?

15. Slmpllfy/&@&')@a;

/99
100 °°

100
b) o

S, Y@ (22><32 (32x42) T (42><52) ot (92 ‘

A S~—— ==

22

E\® Gl

22




SIMPLIFICATION (&(h&&5)

TYPE 4.4: FRACTION (Lil6tT60TLD)

16. Simplify/&r@éi@&&)@(ﬂiﬁ)+ (Fm) + -+ (m:

L=t
a) 10
\\/@ -Nl
by 9. =

©
91 Toneit = -\

l——

d 11 :>o‘




SIMPLIFICATION (&(h&&&)

TYPE 5.1: ALGEBRA (@ uif & 6v0f151LD)

17. If x +;1C = 3, find the value of x% + %

x®- =@asvﬂsb x? + x%@sirr &L &IT6uors

A\




SIMPLIFICATION (&(h&&&)

TYPE 5.1: ALGEBRA (@ uif & 6v0f151LD)

18. If x% + x—lz = 14, find the value of x + %

x2+%= Jliemsﬂsi)x+i@6irr O SILIL & IT6u0T &

Q o
\

a) 6 DQ—\NBZ

b) 2 -

c) 5




SIMPLIFICATION (&(h&&&)

TYPE 5.1: ALGEBRA (@ uif & 6v0f151LD)

) 3 1 \{%—\égﬁ
19. |fx+;=3,findthevalueof x~=+§ Z =

———
GTSGUﬂGb x3 +xi3@m LDE)]IJL| SHT650T5 /ﬂ%‘)\i\;\g




SIMPLIFICATION (&(h&&&)

TYPE 5.1: ALGEBRA (@ uif & 6v0f151LD) /
20. If x — 2 = 2, find the value of ;\53@l S =i 20
x ’ 11 - Y\ —_
U ot -t
-] 6T 6vfl6L x —Z Qe &L &IT630TS i + r_g\_(%)
> g3

__af 1a.. (7’)c S N
?)) 22 ‘@\/ =
LR E S S S




SIMPLIFICATION (&(h&&&)

TYPE 5.1: ALGEBRA (@ uif & 6v0f151LD)

21. If (x+ %)@ = 8, find the value of x3 + x—13

~——

%
(x+1@=%"l'66ﬂ61) x3+x—13@68r WS &IT6UoTS b - =2

0 2
X §-30 = Z° 2(2>
a) 20 n=02_ . R
o 18 S =) %§Q>
c) 3 \

fore. BS® -y (g




SIMPLIFICATION (&(h&&5)

TYPE 5.1: ALGEBRA (@ uif & 6v0f151LD)

22. fx+y+z=9andxy+ yz+ zx = 13,thenvalue os
22 2\ AT yEeT AN T

X+y+2z=9andxy+ yz + zx =26 eT6ofleL x* + y? + z> @1 LOHLIY
—_— I — —_— -
\2

/a*)/'.-'»S... 2
b) 29 QC AR =)

c) 39 (A xerey (2 = L) QO\B
Q) 68 @/L‘\:&—\*—)} —\A ) X c [x &(G\\o*c\oc_-\v

= 7 ()

%\‘:Uo = ,7

/1




SIMPLIFICATION (&(h&&&)

TYPE 5.2: ALGEBRA (@\wif & 6v0f15LD)

g2

23.

Doto o12% 4 A1




SIMPLIFICATION (&(h&&5)

TYPE 5.2: ALGEBRA (@i & 600f15 D)

728 X728 —272 X272

24.  Simplify/&(H& (G

1000
2
o- b
456...

/‘{ o
b) 1000 O\®
c) 728
d) 272




SIMPLIFICATION (&(h&&&)

TYPE 5.2: ALGEBRA (@\wif & 6v0f15LD)

1.5 x15 x1.5 - 0.5 X 0.5 X 0.5
1.5x1.5+15 x05+05x05

25.  Simplify/ & (IHh & (G

o 2
an/\o) (0&& Ao o
v\ _ (ax) (o= ab sr\§>

\




SIMPLIFICATION (&(h&&5)

TYPE 5.2: ALGEBRA (@i & 600f15 D)

26.  Simplify/&i(Ih& 5_L5xL5xL5+0.5x0.5x0.5
- Simplity/FB&ESS T s 05 105x05

>
iy by = ()
c) 05 |\ Sy 05




SIMPLIFICATION (&(h&&&)

TYPE 5.2: ALGEBRA (@\wif & 6v0f15LD)

(679+458)% — (679-458)2
679 X458

27.  Simplify/ & (h&H(FHS ~

a) 0

b) 1
4...

d 2




SIMPLIFICATION (&(h&&5)

TYPE 5.2: ALGEBRA (@\wif & 6v0f15LD)

(835+378)%+ (835-378)>
(835 x835)+(378x378

28. Simplify/&(H&(FHS

a) 0
b) 1
c) 4
—2...




SIMPLIFICATION (&(h&&5)

ALGEBRA FORMULAS (@ wif) & 600f1&LD)

(a+b)* =a*+b? + 2ab

(E;b)z =a% + b% — 2ab

(a+b)?O(a—-b)* = 4ab

(a+b)*@ (a—b)? = 2(a® + b?)

a’—b% =(a+b)(@a->b)

(a+b)® = (a®+b3) + 3ab(a + b)

(a—b)3 = (a®-b3) —3ab(a—b)

a® — b3 = (a—b)(a% + ab + b?)

a® + b3 = (a+b)(a% — ab + b?)

10.(a + b+c)?= (a®+b? + ¢?) + 2(ab + bc + ca)

X N N & Bk W DhoRE




ALGEBRA SHORTCUTS (@\wif & 6vofl & LD)

1

8.

9.

1

2_p2
a“—-b
. =a+b
a-b

2_p2
a“-b
. =a-—b>b
a+b

3_p3

a’-b
= ——a—b
a?+ab+b?

3,53

a’+b
———=a+b
a%—ab+b? T

3_13

a’-b
——=a+b
a?+ab+b? T
a+b)%—(a-b)?
(a+b)*~(a=b)® _ ,

ab

(a+b)2+(a-b)? 9

a? +bp?

If x+;1c=n,findthevalueof x3+xl—3=n3—3n
If x—;lc=2,findthevalueof x3—x13=n3+3n

0. If x+i=2,findtheva|ueof x2+xiz=n2—z




HOMEWORK-TYPE 5
1. Findx3 —y3,ifx—y=5andxy = 14

x—y=58&xy =14 6Tevfl6L x> — y3 @ebr WHLILY &HT6voTS
a) 56 b)350 c)335 d) 568

2.1fa + i = 6, then find the value of a3 + a—13

a+-=6eefeb a® + 1 @6l AU HMers
a)19 b)198 ¢)90 d)298

3.1f (y - i)3= 27, then find the value of y3 — yis

(v —3=27 raafle y* — 5 @i WHUY SIS
a) 36 b)68 c)3 d)4

4. Find 27a3 + 64b3,if 3a+4b =10 & ab = 2

3a+4b = 10 & ab = 2 eT6vfl6L 27a3 + 64b3 @61 LOHLIL| &IT6VOIS
a)19 b)198 ¢)90 d) 280




SIMPLIFICATION (&(h&&5)

TYPE 5.3: ALGEBRA (@i & 650f15 D)

. . i m 1 1
29. Snmplnfy/&@&@&,@@@@mz_l

a) m?
b) m2-1
'l T A
C) =z N BRY N\L—~\
mZ —_—
/eaﬁmz—l
2 \
K_“:_'l\ )+ 2
WAt T )
Ao A N




SIMPLIFICATION (&(h&&&)

TYPE 5.3: ALGEBRA (@wif & 6v0f151LD)

3/ 8/~

30.  Simplify /&GS — + —

a) x*-2x+4
_b) x*+2x+ 4.
c) x*-2x—4
d) x*+2x—4
"N 3/ f %
/LN L TS ®

-2

@@é@ < _ ©®=

2L L-2 oC -2




SIMPLIFICATION (&(h&&5)

TYPE 5.3: ALGEBRA (@wif & 6v0f151LD)

3 _ x2
31, Simplify /& (b5&S ~— 329&)

x+3 ?;)
3(':5.—‘&
t 3@%{3
a) 3x-1 = = —_- = _
b) 3(x+ 1)
3(x—1).. X/({ jci'/\:_}c_j\
d) 3x+2
2
12 (=D (Cxme=N)
T - T




SIMPLIFICATION (&(h&&5)

TYPE 5.3: ALGEBRA (@i & 650f15 D)
/

9 / |
X< —2x 3x+6

x2 +2x X -2
)7‘\-/ ——

32. Simplify /& (555

a) 3x
_b)-3..

S oy A= (@)
A () <3




2021 GROUP 4

(E) Answer not known

arésaax3+y3
BHES UG

LAY x?ay+y?
B) x —ay+ry
(C)  =®-xy—»°
D) x*+xy-y*

(E). e Ggflwaidenad




SIMPLIFICATION (&(h&&&)

TYPE 5: SURDS ((mgu@&,sh)

5 &G

bV 7
~ &

33. Simplify/&@&@ﬁ?t\g‘ % ,, &_5:’_:(\]1

14+5V8 {2
/0/ 11 % (5 N @>

2 e O
a/ // x - — -‘V__’—.

14 - 5V3 )é'

11

b)
¢ 14-53

d) 14+5V3

L

AN
\\




SIMPLIFICATION (&(h&&&)

TYPE 5: SURDS ((mgu@&,sh)

34. Find the value of @ and b if

2 = a\/— 7 +b erevfled, a HMID b edr mg‘,]uq&,w)m&, SI1600T 5. 2 - -
s SR

%=y

a) 4/3and0 &S——T_ c)_> Q(:\ B 2>

b) O0and4/3 S
s _-4/3and 11/3.. Q\ﬁ* ) (ﬁ -2) RN
\d) 11/3 and-4/3 = (ﬁaf‘ Q\* ~ax{1x

: @-20 7 -y




SIMPLIFICATION (&(h&&&)

TYPE 6: WORD PROBLEM

35. The cost of a chocolate is Rs. (x + y) and Amir bought (x + y) chocolates. Find the total

———

amount paid by him in terms of x and y. If x =10, y =5 find the amount paid by him.

Q0 Qevfllnfler aﬂ@m@ 218 (x + y) Qefliysener eunthgleomii. erevfléd si6ulf
6&MbES IWNESS agnmamuw &nevord. Geib x =10, y =5 erevfled EM))
Q&MbEHS OSTENS 6TEUEUETEY?

—_—

| o s
cﬁm/fod@:: Xry = \S

G\c&mz&im& = LDLA( :Z) \—5




2021 GROUP 4

If the cost of a dozen soaps is Rs. 396, what will be the cost of 35 such

soaps?

(A) 1515

(B) 5511

(C) 1155

(D) 5115

(E) Answer not known

@@ wear Crruysafler allgne . 396 aﬂm@smumﬂm eflanay eréiran?

@A) 1515 : . RREN
(B) 5511 2 L L ben =\ Ce00Y = 2,4 9((1
o155 -

(D) 5115 @%L\Y’

(E) &fen Qsflwelcrena




2021 GROUP 4

The cost of 15 chairs is Rs. 7,500. Find the numbef of such chairs that
can be purchased for Rs. 12,000

(A) 24
(B) 26
(C) 28
(D) 30

(E) Answer not known

15 mrpsredseflen eflene . 7,500 erefled @p. 12,0006 G@M&Gﬁ

GUTRIGEVITLD ?

—_— Q—JA\-—
e S ¢ = 15w \ St
® 2 T
(© 28 TR e STy Vs
D) 30 =4

(E) e Gsfueiidvena




